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At the time when you release, etc. — 5910 uRRR INRW AT

OVERVIEW

»ax explained that the reason 977 was able to be 9120119 jpnn is because (297
maintains that) 777 1272 0°502 DY MWY is only 1312772, To support this contention (that
1"7712 @°50D NWLAW is 112771) AR cited a N7 in which 27 was w17 the P10 of 1N
VW 7Y NWH 127, that this 2109 1s referring to two types of 7MW, one is YpIp NVNIWY
and the other 0502 nY»w and since they are mentioned together we can derive that
when there is no ¥pp N Y there 1s no 0°902 NV »W. However this Xn> 12 does not
state clearly that *3w n°a 1212 (when 997 lived) there was no ypap nuvnw. It also
gives no reason why there should not be ¥yp7p nvnw (during *1w n°2) and therefore
also no 2°902 N »w. Our NMdOIN discusses these issues.

— %W 17%33 RANI XY 2y nonvnt loq0pa v

>'"w9 explained that ¥pap nws»w was not observed during the second w7pni N3 -
— 371 Y21NY 1713 KIN NN NOIAY PRY 1930 2199993 5191953 19991N 1

As "2 states in the %219 7770 in our P92, ‘how do we derive that vpp nuanw

is not observed unless it is the time when %2 is observed -
— %595 1AY NVINY HNNXY Y29 NONY HNN VINY HVNYA 927 AN *IMNIY

For it is written in the 770, "waw TR 927 7' (and this is the rule of wsnw;
release); the two words 70nw and 0VIY; one refers to 9210 nu Y and one refers to

noYsaw nwInw, ete.’ This concludes the citation from the "»%w1. "1 continues -
— NHIINTI NVINY NINI ND 611’5” %2V 93 190 XYY 5aY AN XD DININ Y N2

And in the time of "1 n°a, since %2 was not observed, for all its (Jewish)
inhabitants were not on the land, therefore nmuw»w of nvaw was also not
observed Xn""MINTR’.

mooIn continues with *"w (asking and answering):

' poyrawa o'
% ypp nunwn (resting of the land) refers (mainly) to the prohibitions of planting and harvesting on the seventh year.
231" (in our 22V texts it is on 3,X2).
42w (7%7) 01T
5 This is a 7w17 (for that mwno discusses only 2°505 nvw, but not MypIp nwnw of N°y°aw or of 2av. They ( NYHY
52171 NPy awT Mypp) are discussed in 972 nwAo).
® The 7N writes (°,72 [172] X7p™) regarding a1 that 7°2w 9% ¥AX2 117 onNXIpPY; indicating that v is 33 only
when %Y 72w 22. In the *3 n°2 not all the Jews returned to *"X. See later in this n9own. The *n7w17 actually states
that 19277 3P0 121 731 1287 2awn (which was more than one hundred before WX n°2 12707).
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— 192911 93950 '1P03Y YTPY /Y295 931 (3,35 91 159932 139ANT N
And that which prx° 72 1211 27 said in 19 noon, ‘they counted nY»2y° in order
to sanctify Puw nw; indicating that 7vnw was observed in 1% N2 (not as mentioned
previously), *"w1 answers that the observance of *1w n°22 7V W was only Ja3972.

In summation: The view of >"w1 is that our X713 knew already that there is no ¥Yp7p nvnw during
the *3w n»2 (they derive it from the "2 which compares nv°aw nv Y to 221 nuwnw [which did
not exist W N°2 JA12 since 79V AW 95 P°R]), our XA teaches that (even) 2°905 NYMY was not
effective 1w N7 1112 RNPIRTA.

mooIn has a difficulty with >"w7s:
— 55mbw199 9NN K2ANY 19 NSNT BN 199399 num

And the n'"'9 has a difficulty with this explanation, for the X723 should have also
cited that w17 of the 3%5w93 (that there is no Xn» X7 ¥vpp nu*nw during 1 n*a) —

MooIN anticipates a possible resolution:
— D905 DIVYN NN NINT TN NONIN 721907 99N 17%9N)

And even if we will assume that the X7 depended on that "»>v1 (assuming
that we are aware of it) and the X3 merely cited this w97 because of nuV»Y

29902 (to teach that X177 it too is not effective *1w n°2 1a12), nevertheless -
=NINT 9 2199139 Y9V ) 1OYAVWIA NPV NYIIN 729997 (2,2 91 JOP T¥IN V92 NVYP *NIN

There is still a difficulty in the beginning of »'""¥ noon, where the X3 asks,’ is
plowing and planting permitted during n>waw,'” and the X3 there, as an

answer, cites this Xn>>72 which is mentioned here in our '8 »3 (and not the n5w1) -
—MMYWINT NIIN NIN MINNRY BYs v NY onm

However, there it is not appropriate to cite our Xn»12 (which only teaches that
when there is no ¥p7p N »Ww there is no 0°902 NV AW, but it does not teach us that

there is no 1"712 Ypp Nw W), but rather the X1°°12 mentioned in the %@ should
have been cited there, since that Xn>92 teaches us that there is no Xn»MKT2 YpIp NUAY when

7 The xm there agrees that there was no 1w n°a yara »ar, however after counting seven M »w of seven years (forty-
nine years), they counted the fiftieth year as 921 (but it did not have the rules of 221°), merely in order to begin the
count of the following seven nw »w all over again in the fifty-first year.
¥ How else are we to know that there is no "1 n 1A12 YR nunw?!
? The X3 there cited a 73wn which states one may irrigate on n°y°aw a Pr>wna n"a (a field that requires irrigation).
Irrigating a field is forbidden on n°¥"2w either because of 11¥°77 or because of 7wr.
" How can we understand the 71wn of Ny awa oW N2 Ppwn?!
" The mwn is discussing 717 7212 N°v*aw which is only 132777 MoK and therefore they were lenient regarding a n»a
prown. The X3 cites our Xn*>12 which compares ¥p1p nunw and 2°505 N HW.
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there is no 21 (after wx17 n°2). 12

mooin offers his explanation:
— PO NYIINA 299N ND DNNTI XINYT YPIP NVNYAT DN 139290 AN

And it is the view of the n''9 that the term ypap nunwi both here and there (in

the "n%w17°) is not discussing 791 @A -
— Puay5a prhyah MANIND MW NN

But rather the term ypap nunws is referring to the fields that are returned to the

original owners on 2.
— *05905 NVNRYA MYAYD 21 59D YR NVNRYM

And the mn»a refer to 221 as ypap nunws (for on 221 the ¥p1p is released by the

buyer and it returns to the seller) and they refer to @%90> nuRWT as nNoYsaw, the
reason 0°502 Nunw: is called nN°y 2w (in the no>w17) -
— 993N AN NYWI93 ¥N01ha 1999879 Y299 8 P00 nunwn nvsnwe

For only nmws»w (which is nvaw) is 29905 nu»w» but not b2y, as the [po]

clearly states in 21K 77X nwAp -
— VINY NVIIYN 371D NY YWIIN

And we derive it from the P109 of LW Tw W 237 7N -
— 55U KON 59 IIAY DAY NNNK Y29 DRYN NNNY T TN 397

And this is how it is derived; when you are %2y w»w» (which is only when 93
THY AW you are noyhaw wnawn (read 0°902) so that our Xn>M1 is actually the
same as that Xn>72 in 5.

In summation: according to Moo, YpIp N AW refers to 221 and MY 2w NV refers to NYHY
0°002 (and ypp nunw) and we derive directly from 221 (¥pap nunw) that o°o0> nunw is only

2 This question is on *"¥7 who maintained that we know that there is no "1 n°22 ypp nv»w from the XN*12 in the

"n7wI7%; however our Xn*>72 only teaches us that there is no 0°005 nv’»w when there is no YpIP NYHY.

3 The 77N teaches us (72 P19 [12] XpM) that when one sells an inherited field (71nx 77w), the sale is valid only

until 21° and when %21 comes the field reverts back to the original owner.

4 mooin states that the term 931 nv nw means ypIp N and the term N°Y 2w NVMY means 0°903 NV AW, so when the

MPWIT states MUY LAWN TNK 92 VAWM INRW 1412 it means that when there is ¥pp nv»w [only then] there is nvHw

0°505, which is identical to what the Xn>92 here teaches..

'> When the 2w states n°y°2w nwnw and our XN™72 states 0°903 Nwnw they are both referring to both ¥ypp nwnw

(of 7y 7w 7m) and 905 nwnw. [This will explain how the X 13 in p"n cites our Xn*12 of 2°05 nuvnw.] All three

munw including ,vp P nwnw ,221 and 0°505 nu W are only A1 together. The reason we mention 0°903 is because

0°503 N nw is (more) identical to 22, since in both cases one has to give up ownership (the buyer and the lender).

This also explains that both nin>72 were taught by »21.

'® The marginal note inserts the word *502.

' See n"m1 who suggests that we are 071 also 7n, for this teaches us that only this (7o™Ww) is 0003 trwn but not Har.
3
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when there is a 921; thus making our &n>>72 and the Xn»92 in the n%w17° identical.

MooIN continues:
— (x,80 97 M) 11992 Y90INN /T P92 1299INYT Bua35 43 23 117227 DN 1929 N

And the n''1 says that %2 was observed in the time of the " n°a, for the X7

states in 77952 5197% "7 21D, on the 7109 of -
— 93 MDNIN MNOY 19V 1Y DINYN Y INY IR OIuN)

aNRWR Yy I8X R 29wy (and for their guilt they brought an JRx 95X for their
WK 127p), this teaches us that all of the people in the time of X7y were 312 a

a9 ANSW (which requires an 19177 ANOW mzzx)zo
— 593 7a¥9 NONINRND 7PPNN N2 DXYN ANDY NIEN 139N NDYIN NNAYH

And a 9y v is a woman who is half noavid mmew and half free woman who

was nwTIPn to an "2y Tay -
— (8,03 97 P29) YNTY YITPNN PID 91D 9NTI XN DAY 11912 XN 17193 139N 293y Tay)

And an 2y 72¥ is not applicable only when 2 is observed as the X3 states
in the end of 17w wsTPnT P95. This proves that the 721 was 3711 (even) "W M2 1212,

mooIn responds to an anticipated difficulty:
— ZHUNT 133 M1IN MNOY II¥AY ¥ INSINY 1Y 9aN0N N

And it is not logical to assume that they brought these owX n11277 on account
that they were n¥2yn ninsw 5y12 during the pwya noa -

mdoIN goes on to show that this is feasible:
— PPN 9292 YTAYY NIT DAY DY INYANY (3, 91 NOPNNT NP PI9 91D INIYNT

As we find in the end of the first P25 of ny=17 noon that they brought n1127p in
"1 n°2 for the "'y which they served in the days of 13?73 (at the end of wx1 n*2);

the same can be said for 79171 7now. However, N501N negates this -
—YTYUNIT INIYN KD N9YIN NNAY HY DAN 1TUNIT INIYN NIt NTayay

"% 1t should be noted that many 2°11wx disagree with this 0" nv*w. See 7"nR # 289, etc.
' The xm3 there cites a P09 in v°,” XY which states: apRYR 7y XS % DY) D7) X°¥i79 072 1071 The P10 there
are discussing how X771y had the Jews send away their gentile wives, and they decided to atone for this by bringing a
ram for their guilt offering (as a 7yw nX717). However the & n3 there make a 77wA7 that they all brought an 7rdow owWK
79171 (which is brought from the 2°°8).
2 See 23-2,17 (DWNTP) KIPN.
*! For instance two partners owned a 19177 7m9w and one partner set her free, making her a 71 N2 7PM 7noWw 7%,
22 Were we to assume this then here would be no proof that the 2y is 3m1 (even) " n*22.
3 This refutation assumes that there may have been people who were W1 N2 Tar2 M1 MAdw 9912 and they lived
and brought their 719171 AMdW oWR in the beginning of "1w n°2.
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For regarding 1"y we find that the X7v° °12 in the PR N2 were suspect of
serving 1"v,”* however, regarding 7157 answ we do not find that they were

suspect during WK n°2. Therefore it is logical to assume that the 719191 75w owWR was brought
for their current transgressions.

mooIn offers an additional proof that 521 was 311 during *1w n°2:
— (3,85 97) 1°29Y N2DNI NNTI VY N’12 anIn 59y 513 3N XTI

And furthermore, for the rules of %7 9y "n2 were in effect in "W N2 as we

leant in a /mwn in P29y noon -
— 5995 939901 X103 150 NNYNIA (3,19 91 RNRY 03 129 19 55990

And the X773 cites this 71wn later in RIRW 52 P79, ‘initially the buyer of a 7°v 02

72 would hide; so 210171 9971 instituted, etc.
-7 YAy yva NYN 122793 12N DN 29Y N7 (x,05 pay) INTY YWITPNIN 9102 212) 13299N)

And the Xn»72 at the end of 17w weTpPnT P10 also states that the rules of "9y sn2

7 are applicable only during the time when 2% is 3. This (also) proves that
921 was "W M2 112 A,

Moo responds to an anticipated question:*’
— 1531 1% 120 590V 1Y 929199 Y51 Ppeen X

And %977 did not institute the 120175 for his generation, for »%:7 lived n°an y11a -
— (%20 nav) DIV 7P 1520 2393 JMINOYI 11N PYRYI INIIII P Zhnn

For %911 and his son Tw»w, and 8723 (the son of 1nWwnw) and }w»w (the son of

%X°913) they conducted their nix>w: for one hundred years during *1w nsa -
— (3,35 97) NIV %2 P993 912 1329INTI N 299N YT HNT J29IN 9NNRD NON

But rather 7277 was jpnn the 712019 for the generations after the *1 n»a 327, for
they knew (in the days of %%7) that the wipni n°2 will be destroyed as the X3

* There are countless 2’109 in which the o°x"21 exhort against 1"y (but none regarding 71917 7MOW).
» If one sells a house in a walled city (¥ nw»), the seller may redeem the house from the buyer up to a year
from the date of the sale; afterwards it belongs to the buyer.
*® The buyers would hide for the first year, so that the sellers would not be able to locate them and redeem their
houses.
*7 997 instituted that there was a special 79%% (office) where the seller can place his redemption money (during the
first year) and reclaim his house.
% This is how it appears in the (71wn and the) X3 (but not 11°pn).
2 According to the n"1 that 727 was 1w n»2 212 33, and therefore 0°503 NV MW is XN»X7, how could 9977 (who lived
1w N°2 112) be 1pnn a 2120179 to go against the Torah commandment of 2°505 nwnw.
3 Others amend this to read 17°n. [See ‘Thinking it over’ # 1.]
3! The w"w" amends this to Y577 (without the "1").
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states in 9971 Noon in w3 P —

Moo responds to an anticipated question:
— 12N NN TINDN NTD RIN UNM 1990 IND 19PN 1910 "”1mv: YT N

And regarding that which the X723 shortly queries, did %7 institute the 120179
for his generation only (which seems to indicate that the 9120115 became effective
during *1w n°2); NvOIN responds, it does not mean actually to his generation, but

rather it meant for the generation which followed immediately after the 3277
W " -

mooin offers an alternate explanation regarding Ppn m77%:
- 33‘1‘,7ﬂﬂ 97 197 N2 9PN IYNT NIYT NDYN NIYa NI 9193 ON

Or you may also say; that query (whether pn 7772, meaning actually his
generation) is according to 829, who answered (that 557 was able to be jpn»
5120170 [even when it is RN™IRTA vAYR], since) 7''92 @D is P,

mooIn anticipates the following question:
— N3 N DAVT YNRWNT PVINY YTPY MY 1) (3,35 97 P29 9102 9INRT N

And that which the X3 states in the end of 1°27y noon, ‘they counted n»2% in
order to be punw wrpn’, which indicates that 921> was not 711 during »1w na -

mooIn responds:
—I2)Y DYVAVN NIYY 1IN NDT RIPIYN 0NN NINYT NPODT INNDY 139N

That explanation was according to what the X713 there initially thought that

once the ten tribes were exiled they never returned -
— 1Dy NP2V DO 1PN RV VY N33 1DYYI) DIVAY /a2 NON D2 MY 1910 XD

And in %22 n193 there were only two tribes (7707 and 7°2°312), and so when these

two tribes went up to "X by %1w nsa, all its inhabitants were not in >"x and therefore
221 is not XM -
— DOVAVY 2751 DY 1NTINEMI )11PY T 1PYUN 1IN 1751957 1359INT NIpONa Yax

However in the conclusion where the X213 states that 171929 returned the nawy
202w to V"X (during NWRA N°2) and ¥R reigned over them (also), it turns out

32219, The xn) there queried whether %271 was 912019 Jpma for his generation only or for all coming generations.
See ‘Thinking it over’ # 2.
» This seems to contradict what moo\n taught previously (» 7"72) that s'827 reply was only on the (second)
question, how can the 1127 make 7v»w (but not on the first question [how can the 1127 nullify v nw]). See 7"nx #
332.
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that there were in *"X during *1% n°2 members from all the twelve aswaw -
— %2V 75 2PUN 0519 1YY XYY 2) HY 9N)

And even though that not all them went up to >"X, nevertheless it is considered
TV aw B —

mdoIn concludes with a difficulty (on the 7"0 that there were no o°0aw 2> by *1w n°2:
:0P0aY 279 599 231 NItWAT NI 29 92 99D 91T WD 1IN0
However there is a difficulty; for ‘go, can you call him a student’, for in X9ty

he mentions all the twelve 2°02w (among those who were 79 to >"X), so how could have
the X3 thought that all the 2°vaw were not there. MdoIN does not answer this question.™

SUMMARY

According to >"wA the Xn™72 here compares 2’900 NYNY to ¥pIp NVAY and the
"MW1’ compares 72 to YpIp Nunw; however according to mMooIn both the 7w
and our X3 compare 721 to 0°903 NV ¥PIP N nw. The "1 maintains that 27
(and v nw) was 3 in the XnN»MIRTA 1w n°2. The 12019 nipn was for the
generation(s) after the j2711.

THINKING IT OVER
1. According to mpoIn that 997 was jpnn the 2120119 for the (M) after the 12,
what is meant when the 71w states ™21 77 DX 7T A9 WA OVa DX 8"

2. Why would %71 be 2120179 jpnn only for the first 117 after the 1271;°° why not for
all the mm17?”

3. Why is it (according to n»oIN) that the "n2w17° refers to 921 as 221 N Y and to
2°000 NVNW as N°YaAw nuanw; while the 922 refers to %21 as ypap nvnw and to
0’902 NV AW as 0°502 NV Nw?

** This (X172 °2 P 97 is an expression used when it appears that even the most basic knowledge is lacking.
33 See y"aymn *wrTn (in back of the naon) and n"m.
% See footnote # 30.
7 See q™w 0"n.
¥ See footnote # 32.
* See n'"ma.
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